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Note that o (h,p) = 0 when h > r, — 1 and A(J,p,m) = 0 when § > > i # pr;, as they will be useful
later.
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Because partial fractions decomposition has been shown to be unique, we know _¢ must be invertible.
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vV m,a € N, with z # —a, and where the binomial coefficients are taken to be 0 where they are otherwise
undefined.

Proof: We proceed by double induction, abbreviating the above as P (m, «)

First Base Case: We prove P(1,1) as the basis for the first induction:
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First Inductive Conclusion (Second Base Case): We have proven P(1,1) and shown P(m,1) = P(m+
1,1) for m € N. Therefore, P(m,1) ¥V m € N.

Second Inductive Step: Assume P(m,«a) for m,a € N. We will show that P(m,« + 1) follows. Using
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Second Inductive Conclusion: We have proven P(m, 1) and shown P(m,a) = P(m,a+1) form,a € N.
Therefore, P(m,a) ¥ m,a € N.

3 Proof
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4 Conclusion

( Insert conclusion )
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